pipe 21

The average flow speed in a constant-diameter section of the Alaskan pipeline is 8.27 ft/s. At the inlet, the
pressure is 1200 psig and the elevation is 150 ft; at the outlet, the pressure is 50 psig and the elevation is
375 ft. Calculate the head loss in this section of pipeline.
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SOLUTION:
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Apply the Extended Bernoulli’s Equation from 1 to 2.
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[a Z—J = ( j (since the flow is fully developed and mass is conserved)
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H,,,,=? (Thisis what we’re trying to find.)

Hg,,, =0 (There is no shaft work between points 1 and 2.)
Substitute and solve for HL.
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